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Model Question Paper     
tho foKku  Biology  

Okkf"kZd baVjehfM,V ijh{kk&2021  

Time Allowed : 3 Hours                             Full Marks -70     

 Pass Marks – 23 
 

Candidates are required to give  their answers in their  own wards as far as practicable. 

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 
General Instructions : lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k 

Q. Nos. 1 to 20 are Multiple choice/objective Type each of 1 mark. 

iz'u la[;k 1 ls 20 rd cgqfodYih;@oLrqfu"B iz’u izR;sd 1 vad dk gSA  

Q. Nos.21 to 27   are Fill in the blank Type each of 1 Mark. 

iz'u la[;k 21 ls 27 rd fjDr LFkkuksa dh iwfrZ ls lacaf/kr iz’u gSaA  
izR;sd 1 vad dk gSA 
Q. Nos.28 to 34 are very short Answer (VSA) Type each of 2 Marks 

iz'u la[;k 28 ls 34 rd vfr y?kqmÙkjh; iz’u izR;sd 2 vad dk gSA 
Q. Nos. 35 to 39 are short Answer Type each of 3 marks. 

iz'u la[;k 35 ls 39 rd y?kq mÙkjh; iz’u izR;sd 3 vad gSA  

Q. Nos. 40 and 41  are Long Answer Type each of 7 Marks.  

iz'u la[;k 40 o 41 nh?kZ mÙkjh; iz’u izR;sd 7 vad dk gSA 
  

This question paper consists of five Groups A, B,C,D and E. 
bl iz’u i= esa ik¡p lewg gS v]c]l]n ,oa bZA  
All sections are compulsory lHkh [k.M vfuok;Z gSA 

 

Group A [k.M&v[k.M&v[k.M&v[k.M&v  
 (Multiple choice/objective Type question) ¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½    

Choose the correct answer lglglglgh mÙkj dk pquko djsa         h mÙkj dk pquko djsa         h mÙkj dk pquko djsa         h mÙkj dk pquko djsa         1111×22220000=22220000    
 

1- rarq:i midj.k ik, tkrs gSa & Filiform apparatus are present in -  

 (A) lgk; dksf’kdk esa Synergids (B) vaM dksf’kdk esa Egg cell 

(C) izfrO;klkar esa antipodal cells (D) dkf;d dksf’kdk esa Vegetative cell 
 

 

2- DNA f}daqMfyuh izk:i esa ,d {kkjh; tksM+k nwljs {kkjh; tksM+s ls fdruk nwj 
gS\ 
How far each base pair is from the next one in DNA double helix model ?  

 

 (A) 2nm (B) 34nm 

(C) 0-34nm (D) 3-4nm 
 

 

3- vehchd isphl ¼vehfc;fll½ --------------- ds }kjk gksrk gSA  
Amoebic dysentery (amebiasis) is caused by - 

 

 (A) ,aVvehck ghLVksykbfVdk  
Entamocba histolytica  

(B) bZ- dksykbZ E. Coli 

(C) LVªsIVksdkWDl U;weksuh  
Streptococcus pneumoniae   

(D) VªkbdksQkbVu Trichophyton  

 

 



4- vaMksRlxZ ds rqjar ckn] Lruk/kkfj;ksa esa vaMk.kq ,d ijr }kjk vko`r gks tkrk 
gS] ftls -------------- dgrs gSaA  

Immediately after ovulation, the mammalian egg is covered by a membrane 

known as ………..  .  

 

 (A) dkWfj;ksu Chorion  (B) tksuk isY;qflMk Zona pellucida  

(C) dksjksuk jsfM;kVk Corana radiata (D) foVsykbu ijr Vitelline membrane. 
  

 

 

5- fuEufyf[kr esa ls dkSu Mh0,u0,0 izfrd`fr dk fØ;k/kkj gS\ 

Which of the following is a substrate for DNA Replication ?  

 

 (A) ATP (B) Mh0,u0,0 ikWyhejst  
DNA Polymerase  

(C) gsyhdst Helicase  (D) fMvkWDlh jkbcksU;wfDy;ksVkbM 
VªkbQkWLQsV 
Deoxyribonuclkotide Triphosphate    

 

 

6- fuEufyf[kr esa ls dkSu ,d fo"kSyk inkFkZ gS tks eysfj;k Toj esa] izfr rhu 
ls pkj fnu esa nksgjkus okys daidaikgV vkSj mPp Toj ds fy, mÙkjnk;h 
gS\ 
Which of the following is a toxic substance that is responsible for the chills and high 

fever recurring every three to four days in malarial fever?  

 

 (A) ghekstksbu Haemozoin  (B) baVjQsjksu Interferon  

(C) gh:Mhu Hirudin  (D) dksyLVªe Colostrum  
 

 

7- fuEufyf[kr esa ls dkSu ,d Mh0,u0,0 esa iSfyUMªksfed U;wfDy;ksVkbM 
vuqØe gS\ 

Which of the following is a palindromic nucleotide sequence in a DNA?  

 

 (A) GAATTC and CTTAAG        (B) CGATAC A and CGTTAG               

 (C) CATGCA  and GCTAGT                    (D) None of these.  

 

8- fuEufyf[kr esa ls dkSu lgksidkfjrk dk izn’kZu djrk gS\ 
Which of the following exhibits mutualism?  

 

 (A) mPp ikniksa dh tM+ esa jgusokys dodewy Mycorrhizae living on the roots of 

higher plants. 

(B) gfeZV dsadM+k ds dop esa ik;k tkus okyk leqnzh vuheksu  

Sea anemone often found on  the shell of heremit crab 

(C) vthaj ds iq"iksa dk ijkx.k djus okys cjZ  
Wasps pollinating fig inflorescences.                        
(D) buesa ls lHkh All of these 

 

9- fuEufyf[kr esa ls fdldk flLV] ty dk okfgr ey ds }kjk lanq"k.k dk 
lwpd gS\ 
Cysts of which of the following is an indicator of contamination of water by 

sewage?  

 

 (A) ,Lpjhph;k Escherichia            (B) ,aVvehck Entamoeba  

(C) L;wMkseksukl Pseudomonas       (D) ys’kekfu;k Leishmania  

 



10- [kk, tkusokys xHkZfujks/kd xksfy;ksa ds lcls egRoiw.kZ rRo gSa& 

The most important component of oral contraceptive pills is - 

 

 (A) izkstsLVsjksu&,LVªkstsu Progesteron-estrogen     (B) o`f)gkWjeksu growth hormone  

(C) Fkk;jkWDlhu Thyroxine     (D) Y;wVhukbftax gkWjeksu Leutinizing hormone  

 

11- fu"kspu ds le; ,d vkn’kZ vko`rchth dk eknk ;qXedksn~fHkn gksrk gS& 
The female gametophyte of a typical angiosperm at the time of fertilization is.  

 

 (A) 8& dksf’kdh; 8- celled          (B) 7& dksf’kdh; 7-celled   

(C) 6& dksf’kdh; 6- celled      (D) 5& dksf’kdh; 5 celled   

 

12- fuEufyf[kr esa ls dkSu ,d ijh{kkFkZ ladj.k gS\ 

Which of the following is a test cross ?  

 

 (A) TT  X  TT              (B) Tt  X  Tt        (C) tt  X tt          (D) Tt  X  tt   

13- fuEufyf[kr esa ls dkSu rhu dwV gS tks ikWyhisIVkbM Jà[kyk ds la’ys"k.k dk 
lekiu djrs gSaA  
Which of the following are the three codons which results in the termination of 

polypeptide chain synthesis ?  

 

 (A) UAA, UAG, UGA                   (B) UAA, UAG, GUA         

(C) UAA, UGA, UUA           (D) UGU, UAG, UGA  

 

14- AIDS dh igpku dh tkrh gS&  AIDS is diagnosed by -   

 (A) foMky tk¡p }kjk Widal test          (B) ELISA }kjk ELISA  

(C) PCR }kjk PCR                                (D) ØksesVksxzkQh }kjk Chromatography    

 

15- Mh0,u0,0 ds ,d jTtwd ls vuqokaf’kd lwpuk dh RNA esa izfrfyih cuus 
dh izfØ;k dks ------------- dgrs gSaA  
The process of copying genetic information from one strand of DNA to RNA is termed 

as ………….  

 

 (A) izfrd`fr Replication               (B) vuqys[ku transcription  

(C) :ikarj.k translation                   (D) fjolZ vuqys[ku reverse transcription.  

 

16- fudksfVu ds lsou ls fdl gkWjeksu dk Lrj c<+ tkrk gS\ 

Level of which hormones get elevated by the intake of nicotine ?  

 

 (A) F S H, L H                        

(B) Fkk;jkWfDlu] izkstsLVsjksu Thyroxine, progesterone  

(C) vkWDlhVksflu izksysDVhu Oxytocin, prolactin   

(D) ,Mªhufyu] ukWj&,Mªhufyu Adrenaline, nor-adrenaline  

 

17- ikWyhejst psu fj,D’ku ,d rduhd gS tks fuEufyf[kr esa ls fdlds fy, 
mi;ksx esa ykbZ tkrh gS\ 
The polymerase chain reaction is a technique used for which of the following?  

 

 (A) DNA ds izo/kZu esa  amplification of DNA                

(B) ,atkbZe ds izo/kZu esa  amplification of enzymes 

(C) izksVhu ds izo/kZu esa amplification of proteins  

(D) buesa ls lHkh all of these.   

 



18- os tho tks ,d fLFkj vkarfjd rkieku cuk, j[krs gSa] dgykrs gSa& 
Organisms that can maintain a constant internal temperature are called as-  

 

 (A) vYirkih;  Oligo thermic     (B) lerkih homoeothermic  

(C) fo"kerkih Poikilothermic         (D) buesa ls dksbZ ugha None of these  

 

19- laihfM+r izkd`frd xSl (CNG) gS& Compressed natural gas (CNG) is -   

 (A) feFksu  Methan      (B) izksisu Propane  

(C) bFksu Ethane             (D) C;wVsu Butane   

 

20- ,d naifÙk dh N% csfV;k¡ gSaA vxyh ckj mudh yM+dh larku gksus dh 
fdruh laHkkouk gS\ 
A couple has six daughters. What is the possibility of having a girl next time?  

 

 (A) 10 %            (B) 50 %            (C) 90 %              (D) 100 %  

  

GROUP-B/[k.M&[k.M&[k.M&[k.M&cccc    
                                                   (Fill in the blanks)                                     1111×7777=7777 

¼fjDr LFkkuksa dh iwfrZ½ 
     

 

 fn, x, cDls esa ls lgh 'kCn dk pquko dj [kkyh LFkku dks HkjsaA  
Fill in the blanks by choosing correct word from the given box.  

 

  

 

 

 

  

 

 

 

21- fola;kstu dk fu;e] --------------- ds uke ls Hkh tkuk tkrk gSA  
Law of segregation is also known as ……….. 

 

22- jklk;fud :i ls RNA, DNA ls ------------ vfHkfØ;k’khy gSA  
Chemically RNA is …………… reactive than DNA. 
  

 

23- ------------- Mh0,u0,0 dks fof’k"V LFkyksa ij dkVrk gSA  
……………… Cuts DNA at specific sites. 
  

 

24- ------------ uke ds thu ds }kjk chVh fo"k dwVc) gksrs gSaA  
Bt-toxin is coded by a gene named …………….. 
 

 

25- ,d ifjiDo iqVd ls vaMk.kq ds eksfpr gksus dh izfØ;k dks -------- dgrs gSaA 
The process of release of ovum from a mature follicle is called is …………  
  

 

26- ------------ >hy dk izkd`frd dky& izHkkou gSA  
………… is the natural aging of a lake.  
  

 

27- ekuo 'kjhj esa] eysfj;k dk ijthoh] 'kq:vkr esa -------- esa xq.ku djrk gSA  
In human body, parasite of malaria initially multiples within the ………….  
  

 

vf/kd] ØkbZ] ;qXedksa dh 'kq)rk dk fu;e] vaMksRlxZ] izfrca/ku 
,aMksU;wfDy,t] lqiks"k.k] tSovko/kZu] ;dr̀ dksf’kdk] okgdA  

More, CRY, Law of purity of gametes, ovulation, Restriction Endonuclease, 

Eutrophication, Biomagnification, Liver cell, Vector.   



  

GROUP-C/[k.M&[k.M&[k.M&[k.M&llll    
                                 (Very Short Answer Type question)                      2222×7777=14141414 

vfr y?kqmÙkjh; iz’u 
     

 

28- fo"kk.kqvksa ds dkj.k gksuokys nks jksxksa ds uke fy[ksaA  
Write the name of two disease caused by viruses.  
 

 

29- foLrkfjr djsa & Expand – 

              (i) BAC      (ii) AIDS 
 

 

30- ifjHkkf"kr djsa & Define- 

          (i) lrr~ la’ys"k.k Continuous synthesis      (ii) baVªksu Intron 
 

 

31- ijkx.k ds vfHkdeZd ls vki D;k le>rs gSaA  
What do you understand by ‘Agents of pollination’?  
 

 

32- ekuo thukse ifj;kstuk ds nks egRoiw.kZ y{; D;k gS\ 
What are the two important goals of Human Genome project.?  
 

 

33- thu fpfdRlk D;k gS\ What is Gene therapy ?  
 

 

34- viw.kZ izHkkfork dks ifjHkkf"kr djsaA mnkgj.k nsaA  
Define incomplete dominance. Give example.  
 

 

 GROUP-D/[k.M&[k.M&[k.M&[k.M&nnnn    
                                           (Short Answer Type question)                                3333×5555=15151515 

y?kqmÙkjh; iz’u    

 

35- fn, x, fp= esa A, B ,oa C dh igpku djsaA  
In the following diagram identify A, B and C. 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

36- vcqZn D;k gS\ ddZ jksx ds foHkUu dkjd D;k gS\ 
What is a tumor? What are the various causes of Cancer?  
 

 

37- thoksa ds vkuqokaf’kd :ikarj.k esa lfEefyr rhu vk/kkjHkwr pj.kksa dks fy[ksaA  
Write three basic steps involved in genetically modifying an organism.  
 

 



38- lef"V o`f) D;k gS\ lef"V o`f) dks izHkkfor djusokys fofHkUu dkjd D;k 
gaS\ 
What is population growth? What are the various factors affecting the population 

growth? 
 

 

39- Mªx ,oa ,Ydksgy dqiz;ksx dh jksdFkke ,oa fu;a=.k ds fy, vki fdu 
mik;ksa dk lq>ko nsaxsA  
What measures do you suggest to prevent and control drug and alcohol abuse?  
 

 

 GROUP-E/[k.M&[k.M&[k.M&[k.M&bZbZbZbZ    
                                           (Long Answer Type question)                            7777×2222=14141414 

nh?kZ mÙkjh; iz’u    

 

40- 'kqØk.kqtuu D;k gS\ 'kqØk.kqtuu dh izfØ;k dh O;k[;k djsaA 

What is spermatogenesis? Explain the process of spermatogenesis.   

 

 OR/vFkokvFkokvFkokvFkok     

 DNA dh lajpuk dh O;k[;k] ukekafdr fp= dh lgk;rk ls djsaA  

Describe the structure of DNA with the help of a well labeled diagram.    

 

41- iqu;ksZtu Mh0,u0,0 rduhd ds foHkUu lk/kuksa ij ,d foLr`r fVIi.kh 

fy[ksaA  

Write a descriptive notes on various tools of Recombinant DNA technology.  

 

 OR/vFkokvFkokvFkokvFkok     

 ty iznw"k.k D;k gS\ ty iznw"k.k ds nq"izHkko D;k gS\ bls dSls fu;af=r 
fd;k tk ldrk gS\  

What is water pollution? What are the ill effects of water pollution? How it can be 

controlled?     

 

 

 


